SI	M Profile:	CYTL26											
F	Rate Plan:	CTL26-S1UB	Monthly Basic Fee:	MBF								S Co	nnectedYou
Effec	tive Date:	01 November 2023	Minimum Monthly Consumption:	MMC									
										PER MB	PER SMS	PER SMS	
Region	Group	Country	Network	2G	3G	4G	5G	MBF	ММС	Data	P/A2P SMS MO	P/A2P SMS MT	Remarks
Asia		Afghanistan	MTN/Areeba Afghanistan	Yes				€0.40	€0.10	€0.0400	€0.1500	€0.0150	
America		Argentina	Claro Argentina (AMX)	Yes	Yes	Yes		€0.40	€0.10	€0.0500	€0.0500	€0.0150	
America		Argentina	Movistar/Telefónica Móviles Argentina S.A.	Yes	Yes	Yes		€0.40	€0.10	€0.0500	€0.0500	€0.0150	
Europe	CIS	Armenia	UCOM LLC/Orange	Yes	Yes	Yes		€0.40	€0.10	€0.0500	€0.0500	€0.0150	
Asia		Australia	Telstra / MobileNet		Yes	Yes		€0.40	€0.10	€0.0050	€0.0300		Permanent roaming not allowed
Asia		Australia	Yes/Optus/Singtel		Yes	Yes	Yes	€0.40	€0.10	€0.0050	€0.0300	€0.0150	
Europe	EU	Austria	Hutchison 3G Austria GmbH	Yes	Yes	Yes	Yes	€0.40	€0.10	€0.0050	€0.0400	€0.0150	
Asia		Bangladesh	GrameenPhone Ltd	Yes	Yes			€0.40	€0.10	€0.0040	€0.0500	€0.0150	
Europe		Belarus	Velcom	Yes	Yes	Yes		€0.40	€0.10	€0.0200	€0.0400	€0.0150	
Europe		Belgium	Orange	Yes	Yes	Yes		€0.40	€0.10	€0.0200	€0.0400	€0.0150	
Europe		Belgium	Proximus	Yes	Yes	Yes	Yes	€0.40	€0.10	€0.0200	€0.0400	€0.0150	
Africa		Benin	MTN	Yes				€0.40	€0.10	€0.0700	€0.1500	€0.0150	
Africa		Botswana	MTN	Yes	Yes			€0.40	€0.10	€0.0500	€0.1500	€0.0150	
America		Brazil	Claro	Yes	Yes	Yes		€0.40	€0.10	€0.0400	€0.1500	€0.0150	Permanent roaming not allowed
America		Brazil	Vivo	Yes	Yes	Yes	Yes	€0.40	€0.10	€0.0400	€0.1500		Permanent roaming not allowed
America		Brazil	TIM Celular S.A.	Yes	Yes	Yes	Yes	€0.40	€0.10	€0.0400	€0.1500		Permanent roaming not allowed
Europe		Bulgaria	BTC Bulgatian Telecommunication Company EAD/Vivacon	Yes	Yes	Yes		€0.40	€0.10	€0.0150	€0.0400	€0.0150	
Europe	EU	Bulgaria	Globul (Telenor)	Yes	Yes	Yes	Yes	€0.40	€0.10	€0.0150	€0.0400	€0.0150	
Asia		Cambodia	SMARt Axiata	Yes	Yes	Yes		€0.40	€0.10	€0.0150	€0.0800	€0.0150	
Africa		Cameroon	MTN Cameroon Ltd.	Yes	Yes			€0.40	€0.10	€0.0600	€0.1000	€0.0150	
America		Canada	Rogers Wireless	Yes	Yes	Yes	Yes	€0.40	€0.10	€0.0150	€0.0400	€0.0150	Permanent roaming not allowed
America		Canada	Bell Mobility	Yes	Yes	Yes	Yes	€0.40	€0.10	€0.0150	€0.0400	€0.0150	Permanent roaming not allowed
America		Canada	Telus	Yes	Yes	Yes	Yes	€0.40	€0.10	€0.0150	€0.0400	€0.0150	Permanent roaming not allowed
America		Chile	Claro Chile SA	Yes	Yes			€0.40	€0.10	€0.0500	€0.0800	€0.0150	
America		Chile	Entel PCS	Yes	Yes	Yes		€0.40	€0.10	€0.0500	€0.0800	€0.0150	
America		Chile	Telefonica Moviles	Yes	Yes	Yes		€0.40	€0.10	€0.0500	€0.0800	€0.0150	Permanent roaming not allowed
Asia		China	China Unicom	Yes	Yes	Yes	Yes	€0.40	€0.10	€0.0040	€0.0200	€0.0150	
America		Colombia	Claro (Comcel)		Yes	Yes		€0.40	€0.10	€0.0400	€0.0400	€0.0150	
America		Colombia	Telefonica Moviles Colombia S.A. (Columbia Telecomunica	Yes	Yes	Yes		€0.40	€0.10	€0.0400	€0.0400	€0.0150	
Africa		Congo Republic	Airtel (celtel)	Yes				€0.40	€0.10	€0.0400	€0.2000	€0.0150	Permanent roaming not allowed
America		Costa Rica	CLARO CR Telecomunicaciones, S.A.	Yes	Yes			€0.40	€0.10	€0.0400	€0.0400	€0.0150	
America		Costa Rica	Movistar (Telefonica)	Yes	Yes	Yes		€0.40	€0.10	€0.0400	€0.0400	€0.0150	
Europe	EU	Croatia	Tele2 d.o.o za telekomunikacijske uluge	Yes		Yes		€0.40	€0.10	€0.0100	€0.0400	€0.0150	
Europe	EU	Cyprus	MTN	Yes	Yes		Yes	€0.40	€0.10	€0.0500	€0.0500	€0.0150	
Europe	EU	Czech Republic	O2-CZ	Yes	Yes	Yes		€0.40	€0.10	€0.0150	€0.0400	€0.0150	
Africa		Democratic Republic of the Congo	Airtel (CEltel)	Yes	Yes	Yes		€0.40	€0.10	€0.0400	€0.2000	€0.0150	
Europe	EU	Denmark	Telenor	Yes		Yes		€0.40	€0.10	€0.0100	€0.0500	€0.0150	
Europe	EU	Denmark	Hi3G		Yes			€0.40	€0.10	€0.0100	€0.0500	€0.0150	
Europe	EU	Denmark	TeliaDK	Yes	Yes	Yes		€0.40	€0.10	€0.0100	€0.0500	€0.0150	Permanent roaming not allowed
America		Dominican Republic	Compania Dominicana de (Claro), Codetel	Yes	Yes	Yes		€0.40	€0.10	€0.0400	€0.0400	€0.0150	
America		Ecuador	Movistar	Yes	Yes	Yes		€0.40	€0.10	€0.0400	€0.0400	€0.0150	
America		El Salvador	Telefonica Moviles El Salvador	Yes	Yes			€0.40	€0.10	€0.0400	€0.0400	€0.0150	
America		El Salvador	Claro - CTE Telecom Personal SA de CV	Yes	Yes	Yes		€0.40	€0.10	€0.0400	€0.0400	€0.0150	
Europe	EU	Estonia	Elisa	Yes		Yes		€0.40	€0.10	€0.0150	€0.0400	€0.0150	
Europe	EU	Estonia	EMT/Telia	Yes	Yes	Yes		€0.40	€0.10	€0.0150	€0.0400	€0.0150	

S	IM Profile:	CYTL26											
		CTL26-S1UB	Monthly Basic Fee:	MBF									nnectedYou
Effe	ctive Date:	01 November 2023	Minimum Monthly Consumption:	MMC							222 2112		
Region	Group	Country	Network	2G	3G	4G	5G	MBF	MMC	PER MB Data	PER SMS P/A2P SMS MO	PER SMS P/A2P SMS MT	Remarks
Europe	Group	Faroe Islands	Faroese Telecom	Yes	Yes	Yes	30	€0.40	€0.10	€0.0100	€0.0400	€0.0150	Remarks
Asia		Fiji	Vodafone Fiji	Yes	Yes	103		€0.40	€0.10	€0.0700	€0.2000	€0.0150	
Asia		Fiii	Digicel	Yes	Yes	Yes		€0.40	€0.10	€0.0700	€0.2000		Permanent roaming not allowed
Europe	EU	Finland	DNA	Yes	103	Yes		€0.40	€0.10	€0.0100	€0.0500	€0.0150	Termanent roaming not anowed
Europe	EU	Finland	Telia Sonera	Yes	Yes	Yes		€0.40	€0.10	€0.0100	€0.0500	€0.0150	
Europe	EU	France	Bouygues	Yes	103	Yes		€0.40	€0.10	€0.0400	€0.0400		Permanent roaming not allowed
Europe	EU	France	Orange	Yes	Yes	Yes		€0.40	€0.10	€0.0400	€0.0400	€0.0150	T cimanent roaming not anowed
Europe	EU	France	SFR	Yes	Yes	Yes	Yes	€0.40	€0.10	€0.0400	€0.0400		Permanent roaming not allowed
Africa		Gabon	Airtel	Yes	Yes	100	100	€0.40	€0.10	€0.0400	€0.2000	€0.0150	T cimanent rounning not anowed
Europe	CIS	Georgia	Magticom	Yes	Yes	Yes		€0.40	€0.10	€0.0400	€0.3000	€0.0150	
Europe	CIS	Georgia	Geocell	Yes	Yes	Yes		€0.40	€0.10	€0.0400	€0.3000	€0.0150	
Europe	EU	Germany	02	Yes	Yes	Yes	Yes	€0.40	€0.10	€0.0200	€0.0400	€0.0150	
Africa		Ghana	ScanCom (MTN)	Yes	Yes	100	100	€0.40	€0.10	€0.0400	€0.1500	€0.0150	
Europe	EU	Greece	Cosmote	Yes	Yes	Yes	Yes	€0.40	€0.10	€0.0200	€0.0400	€0.0150	
Europe		Greenland	TELE Greenland A/S	Yes	Yes			€0.40	€0.10	€0.0400	€0.0700	€0.0150	
America		Guatemala	SERCOM S.A. (Guatemala) claro/Telgua	Yes	Yes			€0.40	€0.10	€0.0400	€0.0400	€0.0150	
America		Honduras	Claro/Servicios de Comunicaciones de Honduras S.A. de C		Yes	Yes		€0.40	€0.10	€0.0400	€0.0400	€0.0150	
Asia		Hong Kong	CSL	Yes	Yes	Yes		€0.40	€0.10	€0.0040	€0.0200	€0.0150	
Europe	EU	Hungary	T Mobile	Yes	Yes	Yes		€0.40	€0.10	€0.0200	€0.0400	€0.0150	
Europe		Iceland	Nova ehf.	Yes	Yes	Yes	Yes	€0.40	€0.10	€0.0400	€0.4000	€0.0150	
Europe		Iceland	Siminn hf	Yes	Yes	Yes		€0.40	€0.10	€0.0400	€0.4000	€0.0150	
Europe		Iceland	Vodafone	Yes	Yes	Yes		€0.40	€0.10	€0.0400	€0.4000	€0.0150	
Asia		India	Airtel			Yes		€0.40	€0.10	€0.0070	€0.0400	€0.0150	Permanent roaming not allowed
Asia		India	Vodafone	Yes		Yes		€0.40	€0.10	€0.0070	€0.0400		Permanent roaming not allowed
Asia		Indonesia	PT Telkomsel	Yes	Yes	Yes	Yes	€0.40	€0.10	€0.0150	€0.2000		Permanent roaming not allowed
Asia		Indonesia	XL	Yes	Yes	Yes		€0.40	€0.10	€0.0150	€0.2000	€0.0150	<u> </u>
Europe	EU	Ireland	Hutchison 3G Ireland Ltd	Yes	Yes			€0.40	€0.10	€0.0050	€0.0400	€0.0150	
Europe	EU	Ireland	02	Yes	Yes			€0.40	€0.10	€0.0050	€0.0400	€0.0150	
Europe		Isle of Man	Manx Telecom	Yes	Yes	Yes		€0.40	€0.10	€0.0400	€0.0400	€0.0150	
Middle East		Israel	Pelephone	Yes	Yes	Yes	Yes	€0.40	€0.10	€0.0050	€0.0400	€0.0150	
Europe	EU	Italy	WIND	Yes	Yes	Yes	Yes	€0.40	€0.10	€0.0050	€0.0400	€0.0150	
Asia		Japan	Softbank Mobile Corp.	Yes	Yes	Yes	Yes	€0.40	€0.10	€0.0150	€0.0400	€0.0150	
Europe		Jersey	JT Jersey	Yes	Yes	Yes		€0.40	€0.10	€0.0400	€0.0500	€0.0150	
Middle East		Jordan	Umniah Mobile Company	Yes	Yes	Yes		€0.40	€0.10	€0.0500	€0.2500	€0.0150	
Europe	CIS	Kazakhstan	Kcell	Yes	Yes	Yes		€0.40	€0.10	€0.0070	€0.0400	€0.0150	
Africa		Kenya	Airtel	Yes	Yes			€0.40	€0.10	€0.0400	€0.2000	€0.0150	
Asia		Kiribati	ATHKL	Yes	Yes			€0.40	€0.10	€0.0500	€0.3000	€0.0150	
Middle East		Kuwait	Viva-KTC	Yes	Yes	Yes	Yes	€0.40	€0.10	€0.0100	€0.2000	€0.0150	
Asia		Laos/Lao People's Democratic Republic	STL Star Telecom comp. Ltd/Viettel	Yes		Yes		€0.40	€0.10	€0.0500	€0.0500	€0.0150	
Europe	EU	Latvia	LMT	Yes	Yes		Yes	€0.40	€0.10	€0.0100	€0.0400	€0.0150	
Europe	EU	Latvia	Tele 2	Yes	Yes	Yes	Yes	€0.40	€0.10	€0.0100	€0.0400	€0.0150	
Europe		Liechtenstein	Mobilkom - FL1 - TL	Yes	Yes	Yes		€0.40	€0.10	€0.0150	€0.0400	€0.0150	
Europe		Liechtenstein	Swisscom	Yes	Yes	Yes	Yes	€0.40	€0.10	€0.0150	€0.0400	€0.0150	
Europe	EU	Lithuania	Omnitel	Yes	Yes	Yes		€0.40	€0.10	€0.0100	€0.0400	€0.0150	
Europe	EU	Lithuania	UAB TELE2	Yes	Yes	Yes		€0.40	€0.10	€0.0100	€0.0400	€0.0150	

SI	IM Profile:	CYTL26											
F	Rate Plan:	CTL26-S1UB	Monthly Basic Fee:	MBF								8 Cc	nnectedYou
Effec	tive Date:	01 November 2023	Minimum Monthly Consumption:	MMC									
										PER MB	PER SMS	PER SMS	
Region	Group	Country	Network	2G	3G	4G	5G	MBF	MMC	Data	P/A2P SMS MO	P/A2P SMS MT	Remarks
Europe		Luxembourg	Tango	Yes	Yes	Yes	Yes	€0.40	€0.10	€0.0200	€0.0400	€0.0150	
Europe	EU	Luxembourg	Orange	Yes	Yes	Yes		€0.40	€0.10	€0.0200	€0.0400	€0.0150	
Asia		Macau	CTM	Yes	Yes	Yes	Yes	€0.40	€0.10	€0.0040	€0.0300	€0.0150	
Europe		Macedonia	Vip operator DOO Macedonia/Vodafone	Yes	.,	.,		€0.40	€0.10	€0.0200	€0.0400	€0.0150	
Africa		Madagascar	Airtel	Yes	Yes	Yes		€0.40	€0.10	€0.0500	€0.2000	€0.0150	
Asia		Malaysia	Celcom (Malaysia) Sdn Bhd	Yes		Yes		€0.40	€0.10	€0.0040	€0.0600	€0.0150	
Asia		Malaysia	Maxis Mobile	Yes	Yes	Yes		€0.40	€0.10	€0.0040	€0.0600	€0.0150	
Europe		Malta	Vodafone Malta Limited	Yes	Yes	Yes		€0.40	€0.10	€0.0150	€0.0300		Permanent roaming not allowed
America		Mexico	Telefonica Moviles	Yes	Yes	Yes		€0.40	€0.10	€0.0400	€0.0400	€0.0150	
America	010	Mexico	Radiomovil Dipsa SA de CV (TELCEL)	Yes	Yes	Yes		€0.40	€0.10	€0.0400	€0.0400	€0.0150	
Europe	CIS	Moldova	Orange/Voxtel	Yes	Yes	Yes		€0.40	€0.10	€0.0200	€0.0400	€0.0150	
Asia		Mongolia	Unitel LLC	Yes	Yes	Yes		€0.40	€0.10	€0.0300	€0.2000	€0.0150	
Europe		Montenegro	Telenor (Promonte)	Yes	Yes	Yes		€0.40	€0.10	€0.0150	€0.0800		Permanent roaming not allowed
Europe		Montenegro	MTEL Montenegro	Yes	Yes	Yes		€0.40	€0.10	€0.0150	€0.0800	€0.0150	
Asia		Myanmar	Telenor	Yes	Yes	.,		€0.40	€0.10	€0.0040	€0.0500	€0.0150	
Asia		Myanmar	MPT GSM Network	Yes	Yes	Yes	.,	€0.40	€0.10	€0.0040	€0.0500	€0.0150	
Europe		Netherlands	KPN	Yes	Yes	Yes	Yes	€0.40	€0.10	€0.0100	€0.0500	€0.0150	
Asia		New Zealand	Spark	Yes	Yes	Yes		€0.40	€0.10	€0.0070	€0.0300	€0.0150	
Asia		New Zealand	2 Degrees Mobile Limited	Yes	Yes	Yes		€0.40	€0.10	€0.0070	€0.0300	€0.0150	
America		Nicaragua	Claro/Empresa Nicaraguense de Telecomunicaciones S.A.	Yes				€0.40	€0.10	€0.0500	€0.0400		Permanent roaming not allowed
America		Nicaragua	Movistar	Yes	Yes	Yes		€0.40	€0.10	€0.0500	€0.0400	€0.0150	
Africa		Nigeria	Airtel Niger (celtel)	Yes	Yes	Yes		€0.40	€0.10	€0.0400	€0.2000	€0.0150	
Africa		Nigeria	MTN	Yes				€0.40	€0.10	€0.0400	€0.2000	€0.0150	
Africa		Nigeria	Globacom Ltd./Glo Mobile	Yes	Yes			€0.40	€0.10	€0.0400	€0.2000		Permanent roaming not allowed
Europe		Norway	Telenor Mobil	Yes	Yes	Yes		€0.40	€0.10	€0.0100	€0.0500	€0.0150	
Europe		Norway	Telia Sonera	Yes	Yes	Yes	.,	€0.40	€0.10	€0.0100	€0.0500	€0.0150	
Middle East		Oman	Oman Mobile - Omantel	Yes	.,	Yes	Yes	€0.40	€0.10	€0.0600	€0.2000	€0.0150	
Asia		Pakistan	Telenor Pakistan (Pvt) Ltd.	Yes	Yes	Yes		€0.40	€0.10	€0.0100	€0.0500	€0.0150	
America		Panama	Claro Panama	Yes	Yes			€0.40	€0.10	€0.0400	€0.0400	€0.0150	
America		Panama	Movistar	Yes	.,	Yes		€0.40	€0.10	€0.0400	€0.0400	€0.0150	
Asia		Papua New Guinea	Digicel Papua New Guinea	Yes	Yes	Yes		€0.40	€0.10	€0.0600	€0.2000	€0.0150	
America		Paraguay	Claro Paraguay	Yes	Yes	Yes		€0.40	€0.10	€0.0400	€0.0400	€0.0150	
America		Peru	America Movil Peru S.A.C.	Yes	Yes			€0.40	€0.10	€0.0500	€0.0400	€0.0150	
America		Peru	Telefonica	Yes	Yes	Yes		€0.40	€0.10	€0.0500	€0.0400	€0.0150	
Asia		Philippines	Globe Telecoms	Yes	Yes	Yes	Yes	€0.40	€0.10	€0.0040	€0.0300	€0.0150	
Europe		Poland	T-Mobile	Yes	Yes	Yes		€0.40	€0.10	€0.0200	€0.0400	€0.0150	D
Europe		Poland	PTK Centertel/Orange TMN - MEO	Yes	Yes			€0.40	€0.10	€0.0200	€0.0400		Permanent roaming not allowed
Europe	EU	Portugal	AT&T	Yes	Yes	Yes	Yes	€0.40	€0.10	€0.0100	€0.0400	€0.0150	
America		Puerto Rico		Yes	Yes	Yes	Yes	€0.40	€0.10	€0.0100	€0.0200	€0.0150	
Middle East	E11	Qatar	Vodafone Qatar	Yes	Yes	Yes	Yes	€0.40	€0.10	€0.0500	€0.2000	€0.0150	
Europe		Romania	Orange	Yes	Yes	Yes		€0.40	€0.10	€0.0200	€0.0400	€0.0150	Damananan manada a a a a a a a a a a a a a a a a a
Europe		Russian Federation	Vimpelcom - Beeline	Yes	Yes	Yes		€0.40	€0.10	€0.0200	€0.0700		Permanent roaming not allowed
Europe		Russian Federation	MTS	Yes	Yes	Yes		€0.40	€0.10	€0.0200	€0.0700		Permanent roaming not allowed
Africa		Rwanda	Airtel Rwanda	Yes	Yes			€0.40	€0.10	€0.0100	€0.2000		Permanent roaming not allowed
Asia		Samoa	Digicel (Samoa) Limited	Yes	Yes			€0.40	€0.10	€0.0400	€0.2000	€0.0150	Permanent roaming not allowed

S	IM Profile:	CYTL26											1 12
		CTL26-S1UB	Monthly Basic Fee:	MBF									nnectedYou
Effec	ctive Date:	01 November 2023	Minimum Monthly Consumption:	MMC									
Region	Group	Country	Network	2G	3G	4G	5G	MBF	MMC	PER MB Data	PER SMS P/A2P SMS MO	PER SMS P/A2P SMS MT	Remarks
Middle East	Group	Saudi Arabia	STC	Yes	Yes	Yes	Yes	€0.40	€0.10	€0.0400	€0.6000		Permanent roaming not allowed
Middle East		Saudi Arabia	Zain	Yes		Yes		€0.40	€0.10		€0.6000		
Middle East		Saudi Arabia	Etihad Etisalat Company - Mobily	Yes	Yes	Yes	Yes Yes	€0.40	€0.10	€0.0400			Permanent roaming not allowed
Europe		Serbia	Telenor d.o.o	Yes	Yes Yes	res	res	€0.40	€0.10	€0.0400 €0.0200	€0.6000 €0.0400	€0.0150	Permanent roaming not allowed
Europe		Serbia	Vip mobile DOO Servië	Yes	Yes	Yes		€0.40	€0.10	€0.0200	€0.0400	€0.0150	
Asia		Singapore	Singapore Telecom Mobile Pte Ltd/Singtel	res	Yes	Yes	Vaa	€0.40	€0.10	€0.0200	€0.0400		Damas and as anaima and allowed
Asia	-		StarHub Mobile	Yes	Yes	Yes	Yes Yes	€0.40					Permanent roaming not allowed
Europe		Singapore Slovakia	Slovak Telekom (T-Mobile)	Yes	Yes	Yes	res	€0.40	€0.10 €0.10	€0.0070 €0.0200	€0.0300 €0.0400	€0.0150	Permanent roaming not allowed
Europe		Slovakia		Yes	Yes	res		€0.40	€0.10		€0.0400	€0.0150	
Europe		Slovenia	Orange		Yes			€0.40		€0.0200	€0.3000	€0.0150	
Europe		Slovenia	Mobitel/ Telekom Slovenije d.d. SI Mobil - Vodafone	Yes	Yes		Yes	€0.40	€0.10 €0.10	€0.0200 €0.0200	€0.3000	€0.0150	
•			MTN	Yes	1	Vaa	res						
Africa		South Africa	KT 3G	Yes	Yes	Yes		€0.40	€0.10	€0.0400	€0.1000	€0.0150	
Asia Asia		South Korea	SK Telecom	Yes	Yes	Yes	Yes	€0.40	€0.10	€0.0070	€0.0400	€0.0150	
			Telefonica	Yes	Yes	Yes	Yes	€0.40	€0.10	€0.0070	€0.0400	€0.0150	
Europe		Spain		Yes	Yes	Yes		€0.40	€0.10	€0.0200	€0.0400	€0.0150	D
Asia	-	Sri Lanka	Hutchison Telecommunications Lanka (Pte) Limited	Yes	.,			€0.40	€0.10	€0.0050	€0.0400		Permanent roaming not allowed
Europe	-	Sweden	Hi3G	.,	Yes	.,		€0.40	€0.10	€0.0100	€0.0500	€0.0150	
Europe	.	Sweden	Telenor Sverige AB	Yes	Yes	Yes		€0.40	€0.10	€0.0100	€0.0500	€0.0150	
Europe	EU	Sweden	TeliaSonera	Yes	Yes	Yes		€0.40	€0.10	€0.0100	€0.0500	€0.0150	
Europe		Switzerland	Sunrise Communications AG	Yes	Yes	Yes		€0.40	€0.10	€0.0200	€0.0400	€0.0150	
Europe		Switzerland	Salt	Yes	Yes	Yes	Yes	€0.40	€0.10	€0.0200	€0.0400		Permanent roaming not allowed
Europe		Switzerland	Swisscom	Yes	Yes	Yes	Yes	€0.40	€0.10	€0.0200	€0.0400	€0.0150	
Asia		Taiwan	Chunghwa	Yes	Yes	Yes	Yes	€0.40	€0.10	€0.0040	€0.0300	€0.0150	
Asia		Taiwan	Taiwain Mobile	Yes	Yes	Yes	Yes	€0.40	€0.10	€0.0040	€0.0300	€0.0150	
Africa		Tanzania	Airtel Tanzania	Yes	Yes			€0.40	€0.10	€0.0500	€0.2000	€0.0150	
Asia		Thailand	AIS 3G	Yes	Yes	Yes	Yes	€0.40	€0.10	€0.0040	€0.1500	€0.0150	
Asia		Thailand	True Move	Yes	Yes	Yes	Yes	€0.40	€0.10	€0.0040	€0.1500		Permanent roaming not allowed
Asia		Timor-Leste/East Timor	Telemor/Viettel	Yes	Yes			€0.40	€0.10	€0.0400	€0.0400	€0.0150	
Asia		Tonga	Digicel	Yes	Yes	Yes		€0.40	€0.10	€0.0500	€0.2000	€0.0150	
Europe		Turkey	Turkcell	Yes	Yes	Yes		€0.40	€0.10	€0.0100	€0.0400		Permanent roaming not allowed
Africa		Uganda	Airtel Uganda	Yes	Yes	Yes		€0.40	€0.10	€0.0400	€0.2000	€0.0150	
Europe	CIS	Ukraine	Kyivstar GSM	Yes				€0.40	€0.10	€0.0200	€0.0700	€0.0150	
Europe	CIS	Ukraine	MTS - Vodafone	Yes				€0.40	€0.10	€0.0200	€0.0500	€0.0150	
Middle East		United Arab Emirates	Emirates Telecom Corp-Etisalat	Yes	Yes	Yes	Yes	€0.40	€0.10	€0.0500	€0.2000		Permanent roaming not allowed
Europe		United Kingdom	02	Yes	Yes	Yes	Yes	€0.40	€0.10	€0.0200	€0.0400	€0.0150	
Europe		United Kingdom	Hutchison 3G Uk Ltd.		Yes		Yes	€0.40	€0.10	€0.0200	€0.0400		Permanent roaming not allowed
America		United States	AT&T			Yes	Yes	€0.40	€0.10	€0.0100	€0.0400	€0.0150	
America		United States	T-MOBILE USA	Yes	Yes	Yes		€0.40	€0.10	€0.0100	€0.0400	€0.0150	Permanent roaming not allowed
America		United States	Verizon			Yes		€0.40	€0.10	€0.0100	€0.0400		Permanent roaming not allowed
America		Uruguay	Movistar	Yes	Yes	Yes		€0.40	€0.10	€0.0500	€0.0400	€0.0150	
America		Uruguay	Claro	Yes	Yes	Yes		€0.40	€0.10	€0.0500	€0.0400	€0.0150	
Europe	CIS	Uzbekistan	Unitel (Beeline)	Yes	Yes	Yes		€0.40	€0.10	€0.0200	€0.0700	€0.0150	
Asia		Vanuatu	Digicel	Yes	Yes	Yes		€0.40	€0.10	€0.1000	€0.2000	€0.0150	
America		Venezuela	Movistar	Yes	Yes			€0.40	€0.10	€0.0500	€0.0400	€0.0150	
Asia		Viet Nam	Mobifone	Yes	Yes	Yes		€0.40	€0.10	€0.0050	€0.0400	€0.0150	

SI	IM Profile:	CYTL26											
Rate Plan:		CTL26-S1UB	Monthly Basic Fee:	MBF								S Co	nnectedYou
Effec	ctive Date:	01 November 2023	Minimum Monthly Consumption:	MMC									
										PER MB	PER SMS	PER SMS	
Region	Group	Country	Network	2G	3G	4G	5G	MBF	ммс	Data	P/A2P SMS MO	P/A2P SMS MT	Remarks
Africa		Zambia	Airtel Zambia	Yes				€0.40	€0.10	€0.0500	€0.2000	€0.0150	